# An asymptotic result for linear nonhomogeneous mixed type differential equation

Ali Fuat Yeniçerioğlu

Communicated by Allaberen Ashyralyev

**Abstract.** We consider a nonhomogeneous linear mixed type differential equation with variable coefficients and establish an asymptotic result for its solutions. Our result is obtained by the use of a solution of the so-called generalized characteristic equation of the corresponding homogeneous linear mixed type differential equation.

**Keywords.** Mixed differential equation, characteristic equation, asymptotic behavior, solution.

2020 Mathematics Subject Classification. 34K06, 34K12.

# 1 Introduction

Mixed type differential difference equations are a special class of functional differential equations where the time derivative depends on both past and future values of the variable. There are lots of interesting articles on applications of such equations as, for example, models for economic dynamics [1, 2], nerve conduction theory [3], optimal control problems [4], and the description of traveling waves in a spatial lattice [5-7].

This paper deals with the mixed advanced-delay differential equation with variable coefficients

$$x'(t) = \sum_{i \in I} p_i(t)x(t - \tau_i) + \sum_{j \in J} q_j(t)x(t + \sigma_j) + h(t), \quad t \ge 0,$$
(1)

where I and J are initial segments of natural numbers, the function coefficients  $p_i$  and  $q_j$  are continuous on the interval  $[0, \infty)$ , the delays  $\tau_i$  and advances  $\sigma_j$  are positive real numbers and h is a continuous real-valued function on the interval  $[0, \infty)$ . We assume that at least one  $p_i$  or one  $q_j$  is not identically zero on  $[0, \infty)$  and we denote

$$\tau_0 = \max\{\tau_i : i \in I\}, \quad \sigma_0 = \max\{\sigma_j : j \in J\}.$$

By a solution x to the mixed differential equation (1), we mean a continuous real-valued function defined on  $[-\tau_0, \infty)$ , which is continuously differentiable on  $[0, \infty)$  and satisfies (1).

Together with the mixed differential equation (1), we specify an initial condition of the form

$$x(t) = \phi(t) \quad \text{for } -\tau_0 \le t \le \sigma_0, \tag{2}$$

where the initial function  $\phi$  is a given continuous real-valued function on the initial interval  $[-\tau_0, \sigma_0]$ .

In the case where the function h is identically zero on the interval  $[0, \infty)$ , the mixed type differential equation (1) reduces to

$$x'(t) = \sum_{i \in I} p_i(t)x(t - \tau_i) + \sum_{j \in J} q_j(t)x(t + \sigma_j), \quad t \ge 0.$$
(3)

Along with the mixed differential equation (3), we associate the following equation

$$\lambda(t) = \sum_{i \in I} p_i(t) \exp\left\{-\int_{t-\tau_i}^t \lambda(s) ds\right\} + \sum_{j \in J} q_j(t) \exp\left\{\int_t^{t+\sigma_j} \lambda(s) ds\right\}$$
(4)

which will be called the *generalized characteristic equation* of (3). Equation (4) is obtained from (3) by looking for solutions of the form  $x(t) = \exp\left[\int_0^t \lambda(s)ds\right]$  for  $t \ge -\tau_0$ , where  $\lambda$  is a continuous real-valued function on the interval  $[-\tau_0, \infty]$ .

A *solution* of the generalized characteristic equation (4) is a continuous real-valued function  $\lambda$  defined on the interval  $[-\tau_0, \infty]$  and satisfies (4) for all  $t \ge 0$ .

Mallet-Paret and Lunel [6] obtained Fredholm properties and exponential dichotomies for mixed differential equations (see also similar work by Härterich, Sandstede and Scheel [8]). This approach was recently used successfully by Hupkes and Verduyn Lunel to extend Lin's method to mixed differential equations [9]. Diblík and Vážanová [10] obtained upper and lower estimates for solutions of mixed-type functional differential equations using the monotonic iterative technique and the Schauder-Tychonov fixed point theorem. In the paper by Berezansky, Braverman and Pinelas [11], explicit non-oscillation conditions for mixed advanced-delay differential equations with positive and negative coefficients were obtained. Biçer [12] and Pinelas [13], in their papers dealing with a topic very close to our research, deal with the asymptotic behavior of solutions of mixed type equations using the fixed point theorem. Our aim in this paper is to apply a different method from the papers [12, 13] for the asymptotic behavior of the solutions of equation (1). That is, to obtain the asymptotic behavior of the solutions of equation (1). That is, to obtain the asymptotic behavior of the solutions of equation (3). Philos and Purnaras [14] studied some results on the asymptotic properties and the stability of the solutions to linear autonomous delay, and neutral delay, differential equations. Later, Dix, Philos and Purnaras [15] obtained the asymptotic properties of the solutions to first order linear nonautonomous neutral differential equations. Pinelas, Ramdani, Yeniçerioğlu and Yan [16] investigated the oscillation and stability of the mixed type difference equation. Yeniçerioğlu [17] obtained some results about the behavior of solutions of linear impulsive neutral delay differential equations with constant coefficients. The techniques used to obtain the results are a combination of the methods used in previous works [14-17]. For rudiments of advanced, delayed, and some classes of mixed (advanced-delay) differential equations, we refer the reader to the books [18-20].

### 2 Statement of results

**Theorem 2.1.** Let  $\lambda$  be a solution of the generalized characteristic equation (4). *Assume that* 

$$\sup_{t \ge \tau_0} \left\{ \sum_{i \in I} |p_i(t)| \tau_i \exp\left\{ -\int_{t-\tau_i}^t \lambda(s) ds \right\} + \sum_{j \in J} |q_j(t)| \sigma_j \right.$$

$$\times \exp\left\{ \int_t^{t+\sigma_j} \lambda(s) ds \right\} + |h(t)| \exp\left[ -\int_0^t \lambda(s) ds \right] \right\} < 1.$$
(5)

Then, for each solution x of (1)-(2) there exists a constant  $K(\lambda; \phi)$  such that

$$\lim_{t \to \infty} x(t) \exp\left[-\int_0^t \lambda(s) ds\right] = K(\lambda;\phi)$$
(6)

and

$$\lim_{t \to \infty} \left\{ x(t) \exp\left[ -\int_0^t \lambda(s) ds \right] \right\}' = 0.$$
(7)

Before moving on to the proof of Theorem 2.1, we will present the important consequences of this theorem below. It is clear that  $\lambda = 0$  is a solution of (4) according to the property (5) if and only if the following conditions are true:

$$\sum_{i \in I} p_i(t) + \sum_{j \in J} q_j(t) = 0$$
(8)

and

$$\sup_{t \ge \tau_0} \left\{ \sum_{i \in I} |p_i(t)| \tau_i + \sum_{j \in J} |q_j(t)| \sigma_j + |h(t)| \right\} < 1.$$
(9)

Thus, a special form of Theorem 2.1 is produced, as shown below.

**Remark 2.2.** Let (8) and (9) be satisfied. Then, each solution x of (1)-(2) satisfies

$$\lim_{t \to \infty} x(t) = K(0;\phi)$$

and

$$\lim_{t\to\infty} x'(t) = 0$$

**Remark 2.3.** Under the condition of Theorem 2.1, a solution to (1) cannot grow faster than the exponential function determined by the characteristic equation; i.e., there exists some positive real constant  $L(\lambda; \phi)$  such that

$$|x(t)| \le L(\lambda;\phi) \exp\left[\int_0^t \lambda(s) ds\right]$$
 for all  $t \ge -\tau_0$ .

Moreover, for the solution x of (1)-(2), we have:

(i) x is bounded if

$$\limsup_{t\to\infty}\int_0^t\lambda(s)ds<\infty;$$

(ii) x tends to zero at  $\infty$  if

$$\lim_{t \to \infty} \int_0^t \lambda(s) ds = -\infty.$$

*Proof of Theorem* 2.1. Let x be the solution of (1)-(2), and consider the function z defined by

$$z(t) = x(t) \exp\left[-\int_0^t \lambda(s) ds\right] \quad \text{for } t \ge -\tau_0.$$
(10)

We shall prove that  $\lim_{t\to\infty} z(t)$  exists and that  $\lim_{t\to\infty} z'(t) = 0$ . By taking into account the fact that  $\lambda$  is a solution of the generalized characteristic equation (4) and using (1), we obtain

$$\begin{split} z'(t) &= \left(x'(t) - x(t)\lambda(t)\right) \exp\left[-\int_0^t \lambda(s)ds\right] \\ &= \left(\sum_{i\in I} p_i(t)x(t-\tau_i) + \sum_{j\in J} q_j(t)x(t+\sigma_j) + h(t) \right. \\ &- x(t)\sum_{i\in I} p_i(t) \exp\left\{-\int_{t-\tau_i}^t \lambda(s)ds\right\} \\ &- x(t)\sum_{j\in J} q_j(t) \exp\left\{\int_t^{t+\sigma_j} \lambda(s)ds\right\}\right) \exp\left[-\int_0^t \lambda(s)ds\right] \end{split}$$

for every  $t \ge 0$ . Using

$$x(t - \tau_i) = z(t - \tau_i) \exp\left[\int_0^{t - \tau_i} \lambda(s) ds\right]$$

and

$$x(t+\sigma_j) = z(t+\sigma_j) \exp\left[\int_0^{t+\sigma_j} \lambda(s) ds\right],$$

the above equality yields

$$z'(t) = -\sum_{i \in I} p_i(t) \left[ z(t) - z(t - \tau_i) \right] \exp\left\{ -\int_{t - \tau_i}^t \lambda(s) ds \right\}$$
  
+ 
$$\sum_{j \in J} q_j(t) \left[ z(t + \sigma_j) - z(t) \right] \exp\left\{ \int_t^{t + \sigma_j} \lambda(s) ds \right\}$$
(11)  
+ 
$$h(t) \exp\left[ -\int_0^t \lambda(s) ds \right] \quad \text{for } t \ge 0.$$

From (11) it follows immediately that

$$z'(t) = -\sum_{i \in I} p_i(t) \left[ \int_{t-\tau_i}^t z'(s) ds \right] \exp\left\{ -\int_{t-\tau_i}^t \lambda(s) ds \right\}$$
  
+ 
$$\sum_{j \in J} q_j(t) \left[ \int_t^{t+\sigma_j} z'(s) ds \right] \exp\left\{ \int_t^{t+\sigma_j} \lambda(s) ds \right\}$$
  
+ 
$$h(t) \exp\left[ -\int_0^t \lambda(s) ds \right] \quad \text{for } t \ge \tau_0.$$
 (12)

Let

$$\begin{split} \eta(\lambda) &= \sup_{t \ge \tau_0} \left\{ \sum_{i \in I} |p_i(t)| \tau_i \exp\left\{ - \int_{t-\tau_i}^t \lambda(s) ds \right\} \right. \\ &+ \sum_{j \in J} |q_j(t)| \sigma_j \exp\left\{ \int_t^{t+\sigma_j} \lambda(s) ds \right\} + |h(t)| \exp\left[ - \int_0^t \lambda(s) ds \right] \right\}. \end{split}$$

Then, by (5),

$$0 < \eta(\lambda) < 1. \tag{13}$$

Furthermore, we observe that the maximum of |z'(t)| on  $[0, \tau_0]$  depends on x and  $\lambda$ ; hence, on the initial function  $\phi$  and  $\lambda$ . Set

$$F(\lambda;\phi) = \max\left\{1, \max_{0 \le t \le \tau_0} |z'(t)|\right\}.$$
(14)

We shall show that  $F(\lambda;\phi)$  is also a bound of |z'(t)| on the whole interval  $[0,\infty)$ ; i.e.,

$$|z'(t)| \le F(\lambda;\phi) \quad \text{for all } t \ge 0.$$
(15)

To this end, consider an arbitrary number  $\epsilon > 0$ . We claim that

$$|z'(t)| < F(\lambda;\phi) + \epsilon \quad \text{for} \quad t \ge 0.$$
(16)

Let us assume that inequality (15) is not satisfied. In this case, because of (14), by the continuity of z', there exist a point  $t^* > \tau_0$  such that

$$|z'(t)| < F(\lambda;\phi) + \epsilon, \quad t \in [0,t^*) \cup (t^*,t^* + \sigma_0] \quad \text{and} \quad |z'(t^*)| = F(\lambda;\phi) + \epsilon.$$

Then, by taking into account the definition of  $\eta(\lambda)$  and by using (13), from (12) we get

$$\begin{split} F(\lambda;\phi) + \epsilon &= |z'(t^*)| \\ &\leq \sum_{i \in I} |p_i(t^*)| \left[ \int_{t^* - \tau_i}^{t^*} |z'(s)| ds \right] \exp\left\{ - \int_{t^* - \tau_i}^{t^*} \lambda(s) ds \right\} \\ &+ \sum_{j \in J} |q_j(t^*)| \left[ \int_{t^*}^{t^* + \sigma_j} |z'(s)| ds \right] \exp\left\{ \int_{t^*}^{t^* + \sigma_j} \lambda(s) ds \right\} \\ &+ |h(t^*)| \exp\left[ - \int_{0}^{t^*} \lambda(s) ds \right] \\ &\leq (F(\lambda;\phi) + \epsilon) \left\{ \sum_{i \in I} |p_i(t^*)| \tau_i \exp\left\{ - \int_{t^* - \tau_i}^{t^*} \lambda(s) ds \right\} \\ &+ \sum_{j \in J} |q_j(t^*)| \sigma_j(t^*) \exp\left\{ \int_{t^*}^{t^* + \sigma_j} \lambda(s) ds \right\} \\ &+ |h(t^*)| \exp\left[ - \int_{0}^{t^*} \lambda(s) ds \right] \right\} \\ &\leq (F(\lambda;\phi) + \epsilon) \left( \eta(\lambda) \right) < F(\lambda;\phi) + \epsilon, \end{split}$$

which is a contradiction, which establishes our claim, i.e., (16) holds true. As (16) is valid for all real numbers  $\epsilon > 0$ , it follows that (15) is always satisfied.

By using (15), from (12) we obtain

$$\begin{split} z'(t)| &\leq \sum_{i \in I} |p_i(t)| \left[ \int_{t-\tau_i}^t |z'(s)| ds \right] \exp\left\{ - \int_{t-\tau_i}^t \lambda(s) ds \right\} \\ &+ \sum_{j \in J} |q_j(t)| \left[ \int_{t}^{t+\sigma_j} |z'(s)| ds \right] \exp\left\{ \int_{t}^{t+\sigma_j} \lambda(s) ds \right\} \\ &+ |h(t)| \exp\left[ - \int_{0}^{t} \lambda(s) ds \right] \\ &\leq F(\lambda; \phi) \left\{ \sum_{i \in I} |p_i(t)| \tau_i \exp\left\{ - \int_{t-\tau_i}^t \lambda(s) ds \right\} \\ &+ \sum_{j \in J} |q_j(t)| \sigma_j \exp\left\{ \int_{t}^{t+\sigma_j} \lambda(s) ds \right\} + |h(t)| \exp\left[ - \int_{0}^{t} \lambda(s) ds \right] \right\} \\ &\leq F(\lambda; \phi) \left( \eta(\lambda) \right) \end{split}$$

for all  $t \geq \tau_0$ . Thus, we have

$$|z'(t)| \le F(\lambda;\phi)(\eta(\lambda)) \quad \text{for all} \quad t \ge \tau_0.$$
(17)

By using (12) and taking into account the definition of  $\eta(\lambda)$  as well as having in mind (15) and (17), one can prove, by an easy induction, that

$$|z'(t)| \le F(\lambda;\phi) (\eta(\lambda))^r$$
 for all  $t \ge r\tau_0$   $(r = 0, 1, 2, ...).$  (18)

For this purpose, let us consider an arbitrary point  $t \ge 0$ . Set  $r = \left[ \left| \frac{t}{\tau_0} \right| \right]$  (the greatest integer less than or equal to  $\frac{t}{\tau_0}$ ). Then  $t \ge r\tau_0$  and  $\frac{t}{\tau_0} - 1 < r$ . So, by applying (18) and using (13), we obtain

$$|z'(t)| \le F(\lambda;\phi) \left(\eta(\lambda)\right)^r \le F(\lambda;\phi) \left(\eta(\lambda)\right)^{\frac{t}{\tau_0}-1}.$$
(19)

As  $t \to \infty$ , we have  $r \to \infty$ , and by (13),  $(\eta(\lambda))^r \to 0$ . Thus, by (19),

$$\lim_{t \to \infty} z'(t) = 0$$

which proves the second limit in Theorem 2.1.

We use the Cauchy convergence criterion to prove that  $\lim_{t\to\infty} z(t)$  exists. To this end, by taking into account (13), from (19) we have, for  $t \ge u \ge 0$ 

$$\begin{aligned} |z(t) - z(u)| &\leq \int_{u}^{t} |z'(s)| ds \leq F(\lambda;\phi) \int_{u}^{t} (\eta(\lambda))^{\frac{s}{\tau_{0}}-1} ds \\ &= F(\lambda;\phi) \frac{\tau_{0}}{\ln(\eta(\lambda))} \left[ (\eta(\lambda))^{\frac{s}{\tau_{0}}-1} \right]_{u}^{t} \\ &= F(\lambda;\phi) \frac{\tau_{0}}{\ln(\eta(\lambda))} \left[ (\eta(\lambda))^{\frac{t}{\tau_{0}}-1} - (\eta(\lambda))^{\frac{u}{\tau_{0}}-1} \right] \end{aligned}$$

As  $u \to \infty$ , we have  $t \to \infty$ , and by (13), the two right-most terms above approach zero. Thus,  $\lim_{u\to\infty} |z(t) - z(u)| = 0$  which by the Cauchy convergence criterion implies the existence of  $\lim_{t\to\infty} z(t)$ . We call this limit  $K(\lambda; \phi)$  because it depends on z which in turn depends on the initial function  $\phi$  and  $\lambda$ . This shows the first limit in Theorem 2.1 and completes the proof.

Example 2.4. Consider the mixed advanced-delay differential equation

$$x'(t) = \frac{1}{2} \frac{(t+1)}{(t+2)^2} x (t-1) - \frac{3}{2} \frac{(t+3)}{(t+2)^2} x (t+1) + \frac{1}{2} \frac{1}{(t+2)} \quad \text{for } t \ge 0.$$
(20)

Note that  $\tau_0 = 1$  and  $\sigma_0 = 1$  in this example. In this case, the generalized characteristic equation (4) becomes

$$\lambda(t) = \frac{1}{2} \frac{(t+1)}{(t+2)^2} \exp\left\{-\int_{t-1}^t \lambda(s) ds\right\} - \frac{3}{2} \frac{(t+3)}{(t+2)^2} \exp\left\{\int_t^{t+1} \lambda(s) ds\right\}$$
(21)

for  $t \ge 0$ . We immediately see that (21) has the solution

$$\lambda(t) = \frac{-1}{t+2} \quad \text{for} \quad t \ge -1.$$

We see that assumption (5) takes the form

$$\begin{split} \sup_{t\geq 1} \left\{ \left| \frac{1}{2} \frac{(t+1)}{(t+2)^2} \right| \exp\left\{ -\int_{t-1}^t \frac{-1}{s+2} ds \right\} + \left| -\frac{3}{2} \frac{(t+3)}{(t+2)^2} \right| \exp\left\{ \int_t^{t+1} \frac{-1}{s+2} ds \right\} \\ &+ \left| \frac{1}{2} \frac{1}{(t+2)} \right| \exp\left\{ -\int_0^t \frac{-1}{s+2} ds \right\} \right\} \\ &= \sup_{t\geq 1} \left\{ \frac{1}{2} \frac{1}{(t+2)} + \frac{3}{2} \frac{1}{(t+2)} + \frac{1}{4} \right\} = \frac{11}{12} < 1. \end{split}$$

This inequality holds true, i.e., condition (5) is always satisfied. Now, with the mixed advanced-delay differential equation (20), we associate the initial condition

$$x(t) = \phi(t) \quad \text{for } -1 \le t \le 1,$$
 (22)

where  $\phi$  is a given continuous real-valued function on [-1, 1]. By applying Theorem 2.1, we conclude that the solution x of the mixed advanced-delay differential equation (20) and (22) satisfies

$$\lim_{t \to \infty} \left[ \frac{(t+2)x(t)}{2} \right] = K(\phi)$$

where  $K(\phi)$  is some real number determined by  $\phi$ , and

$$\lim_{t \to \infty} \left[ \frac{(t+2)x(t)}{2} \right]' = 0.$$

Also, if Remark 2.3 is taken into account, we get

$$|x(t)| \le L(\phi) \frac{2}{t+2}$$
 for all  $t \ge -1$ 

where  $L(\phi)$  is some real number determined by  $\phi$ . Furthermore, since

$$\lim_{t \to \infty} \int_0^t \frac{-1}{s+2} ds = -\infty,$$

by Remark 2.3-(ii) this solution satisfies

$$\lim_{t \to \infty} x(t) = 0.$$

## 3 Conclusions

In this paper, we proved a basic asymptotic result for solutions of a non-homogeneous linear mixed type differential equation. This result is obtained by using a solution of the so-called generalized characteristic equation of the corresponding homogeneous linear mixed type differential equation. An example of this result is given. A solution of the so-called generalized characteristic equation used in this paper plays an important role in determining the result.

We will be particularly concerned with the possibility of generalizing our results in the case of first-order linear mixed (advanced-delay) differential equations with variable delays and coefficients. This seems easy to achieve if the delays are variable and bounded. However, the general situation with variable delays seems somewhat more difficult. It will also be interesting to generalize our results for first-order linear nonhomogeneous mixed (advanced-delay) differential equations with periodic coefficients.

## Bibliography

- [1] A. Rustichini, Functional differential equations of mixed type: the linear autonomous case, *J Dyn Diff Equat.* **1(2)** (1989), 121-143.
- [2] A. Rustichini, Hopf Bifurcation for Functional Differential Equations of Mixed Type. J Dyn Diff Equat. 1(2) (1989), 145-177.
- [3] H. Chi, J. Bell and B. Hassard, Numerical solution of a nonlinear advance-delay differential equation from nerve conduction theory, *J Math Biol.* **5** (1986), 583-601.
- [4] L.S. Pontryagin, R.V. Gamkreledze and E.F. Mischenko, *The Mathematical Theory of Optimal Processes*, New York: Inter Science, 1962.
- [5] J. Mallet-Paret, The Fredholm alternative for functional differential equations of mixed type. J. Dyn. Diff. Equat. 11(1) (1999), 1-47.
- [6] J. Mallet-Paret and S.V. Lunel, Exponential dichotomies and Wiener-Hopf factorizations for mixed-type functional differential equations. J. Differ. Equ. (2001), 1-89.
- [7] J. Mallet-Paret and S.V. Lunel, Mixed-type functional differential equations, holomorphic factorization and applications, In Proceedings Equadiff 2003, *International Conference of Differential Equations*, Singapore: World Scientific, (2005), 73-89.
- [8] J. Härterich, B. Sandstede and A. Scheel, Exponential dichotomies for linear nonautonomous functional differential equations of mixed type, *Indiana Univ. Math. J.* 51(5) (2002), 1081-1109.
- [9] H.J. Hupkes and S.M. Verduyn Lunel, Lin's Method and Homoclinic Bifurcations for Functional Differential Equations of Mixed Type, *Indiana Univ. Math. J.* 58(6) (2009), 2433-2487.
- [10] J. Diblík and G. Vážanová, Lower and upper estimates of semi-global and global solutions to mixed-type functional differential equations, *Adv. Nonlinear Anal.* 11 (2022), 757-784.
- [11] L. Berezansky, E. Braverman and S. Pinelas, On nonoscillation of mixed advanceddelay differential equations with positive and negative coefficients, *Comp. and Math. with Appl.* 58 (2009), 766-775.
- [12] E. Biçer, On the Asymptotic Behavior of Solutions of Neutral Mixed Type Differential Equations, *Results in Math.* **73(144)** (2018), 1-12.
- [13] S. Pinelas, Asymptotic behavior of solutions to mixed type differential equations, *Elect. J Diff. Equ.* 2014(210) (2014), 1-9.
- [14] C.G. Philos and I.K.Purnaras, Asymptotic properties, nonoscillation, and stability for scalar first order linear autonomous neutral delay differential equations, *Elect. J Diff. Equ.* 2004(03) (2004), 1-17.
- [15] J.G. Dix, C.G. Philos and I.K. Purnaras, Asymptotic properties of solutions to linear non-autonomous neutral differential equations, *J. Math. Anal. Appl.* **318** (2006), 296-304.

- [16] S. Pinelas, N.E. Ramdani, A.F. Yeniçerioğlu and Y. Yan, Oscillatory and stability of a mixed type difference equation with variable coefficients, *Int. J. Dynamical Syst.* and Diff. Equ. 11(3/4) (2021), 391-421.
- [17] A.F. Yeniçerioğlu, Results on the Behavior of the Solutions for Linear Impulsive Neutral Delay Differential Equations with Constant Coefficients, *Commun. in Ad*van. Mathematical Sci. IV(4) (2021), 180-189.
- [18] R.P. Agarwal, L. Berezansky, E. Braverman and A. Domoshnitsky, *Nonoscillation Theory of Functional Differential Equations with Applications*, Springer New York, Dordrecht Heidelberg London, 2012.
- [19] R. Bellman and K.L. Cooke, *Differential-Difference Equations*, Academic Press, New York, 1963.
- [20] H.J. Hupkes, Invariant Manifolds and Applications for Functional Differential Equations of Mixed Type Leiden University, (Ph.D. Thesis), 2008.

Received October 1, 2024; revised November 14, 2024; accepted November 29, 2024.

### Author information

Ali Fuat Yeniçerioğlu, Department of Mathematics, The Faculty of Education, Kocaeli University, 41001, Kocaeli, Turkey.

E-mail: fuatyenicerioglu@kocaeli.edu.tr